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In a row of boys, Kapil is eighth from the right
and Nikunj is twelfth from the left. When
Kapil and Nikunj interchange positions, Nikunj
becomes twenty first from the left. Which of
the following will be Kapil’s position from the
right ?

(A) 21%

{B] Eth

(C) Cannot be determined
(D) 17th

Which cyclones originate over the Bay of Bengal
and the Indian Ocean ?

(A) Western cyclones
(B) Tropical cyclones
(C) Eastern cyclones
(D) Temperate cyclones

(=7
[=] = (a]

IR 371A % wed 5 o o= faan
TEIH ?

(A) demT (B) STEVITEE Yo
(CEUIGE (D) wfoTgL

Project Sunrise of Central Government is

(A) Prevention of Malaria in eight North
Eastern States

(B) Prevention of AIDS in eight North
Eastern States

(C) Prevention of COVID-19 in eight North
Eastern States

(D) None of the above

is the number of times per
second the pixels are recharged so that their
glow remains bright.

(A) Refresh rate (B) Resolution

(C) Pixel rate (D} Bit depth
647 + 415 = 647

(a) 12 (B} 9

(C) 7 (D) 3

WTO was founded in

(A) 1995 (B) 1991

{C) 2005 (D) 1947

Catla fishes are

(A) Surface feeders (B) Bottom feeders

(D) Middle feeders

(C) Feed at all level
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(a) 21+

{-B} Slh
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(A) ufTed! Tghard

(BY Twrfea L TsaTd

(C) YT =rshaTd

(D) wwiiare SERaTE

Under Article 371A, special status was accorded to

(A) Telangana (B} Arunachal Pradesh
{C) Nagaland (D} Manipur

&2 wrEr & TIUES ghge 2

(A) 31T ST et Tt & i 1 e
(B) 776 I Y& T4l # ugH FY Uhayy

(C) 3113 Iat g&if =l | Fifas-19 &t g
(D) 39 J & i$ 7
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(A) 12
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(B) 9

{c) 7 (D) 3 e
WTO 51 T R
(A 1995 (B) 1991

(C) 2005 (D) 1947
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Aman ranks eleventh in a class of forty fo
What will be his rank from the |ast ? "

(A} 35 (B) 33
(€) 37 (D) 34

What is Canthrophily ?
(A) Pollination by bats
(B) Pollination by beetles
(C) Pollination by snails
(D) Pollination by birds

Consider the following statem
President of India. ents about

l. President is the Head of

Il. President exercises only néﬁr?gf;%wer
Choose the correct option given below. >
(A) Both the statements | and Il are correct
(B) Only the statement Il is correct
(C) Only the statement | is correct
(D} None of the above

Body with pores and canals in walls is present in
(A) Amelida (B} Annelida
(C) Porifera (D) Ctenophora

If 12276 + 1.55 = 7920, the value of
122,76+ 155is

(A) 79.02
(C) 79.2

(B) 7.92
(D} 7.092

The Kolkhoz is a collective farming model
introduced in

(A) China (B) USA

(C) Cuba (D) Russia

If the word MENTAL is written as
LNDFMOSUZBKM, then how would the word
TEST be written in that code ?

(A) SUDFQRSM (B) UVFGTIIV-

(C) RSCDQRRS (D) SU DFRTSU

_____is an extremely high-speed,
low-cost process, which records computer
generated information directly from the
computer tape or cartridge to 2 miniaturized
microfilm media.

(A) Character Output Microfilm

(B) Computer Output Mi::roﬁlp":

(C) Character Oriented Microfilm

(D) Computer Oriented Microfilm
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9. a4 sl =) Wk FeT 3T 119 TaE 0 R, sifim
¥ g Yok w0l 7

(A} 35 (B) 33
(C) 37 0] 34
10.  Toifopeh) aun & 7
(A =TTEE G e
(B) %71 gIL1 Tl
(C) wIie grn e
(D) uféi gro war
11. & Huwafd Fan ¥ Fefahas s o fema
|, U T %1 qRaar g § )
I, Tregafa et e i Tl v w7
At g o | Foree o6 =
SR (A) e | ST B T
A B) e HYA I FE @
(C) el &y | 9El B
(D) 390 & ® =ré T
12, vk 1 gl ofi ared § e e gt 2
(A) smferer (8) wferar
(C) wfcka (D) AP
13. 4f 12276 + 1.55 = 7920, & 122.76 + 15.5 F
TH B
) 79.02 (8) 7.92
C) 79.2 4p) 7.092

18, SISEN G afes S oisd 2 R 7
T R AT 2 =
(A) =
(C) ==

15. Ifd MENTAL ¥1%2 i LNDFMOSUZBKM farat sman
%,ﬁrmﬂﬁ@ﬁﬁﬂﬁﬁﬁ%@m?@m
(A) SUDFQRSM &

_€) RSCDQRRS
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arfveiRad w8 |
(A) $FR 3G g fren
(BY FEX T3 WIgshifthen

AC) Faet Shfd2e mrgifien
(D) FegE 3MftiRe Argsnifeey

yoanb "‘TJ;(’._.E

F#TI:E_-. ]ﬂ"‘

(B) qu§T
(D) &9

(B) UVFGTIIV EwGi
(D) SUDFRTSU

16.
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Who among the following Indian sang thz
historic song of peace and hope at 196
United Nations General Assembly (UNGA) ?
(A} Asha Bhosle

\B) M. S. Subbulakshmi

\C) Lata Mangeshkar

(D) None of the above

Name the single comprehensive indirect tax
Operational from 2017 on supply of

{A) Excise Duties (B) Custom Duties
\C) Goods and Service Tax (D) Value Added Tax

The H.CF. of [x2 - ax - (a + 1)) and
[ax?—x—(a + 1)) is
(A) (x+a+ 1)

(B) {x+1)
Q) (x=a-1)

(D) {x-1)
The first Non-Aligned Summit was held in

(A) Bangalore

(B) Belgrade
(C) Dhaka

(D) Delhi

provides a path to transfer data
between CPU and memaory.

(A} Control bus {B) Address bus

(C) Data bus (D) None of the above

22. Nipah virus spreads to humans by %
(A) Cows (B) Pigs ]
(C) Donkeys (D) Dogs :

The major constituent among atmospheric gas is

(A) Methane (B} Oxygen

(C) Nitrogen (D) Carbon Dioxide

Which number will come in the place of

question mark ?

1,5,17,53,161, ?

(A) 482 JE} 479

(C) 485 D) 481

RBCs in frog are

(A) Nucleated (B) Enucleated

(C) Trifid (D) Bifid

Pankaj Advani has grabbed his

World title by winning IBSF 6-Red Snooker

World Cup.

(A) 23

(C) 24th

(B) 21%
(D) 22nd

Double fertilization is a rule of which plants 7
(A) Pteridophytes {B) Bryophytes
(C) Angiosperms (D) Fungi

18.

19.

20.

21,

22,

23,

24,

25,

26,

27,
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28. The position -:::_f how many letters i
BRAKES remain unchanged i;i;? me Word
arranged in alphabetical order ? ey
[CJ Three {D] One

are

29, Structure of XeF_ is
(A) Distorted octahedral
(B) Square bipyramidal
(C) Distorted square planar
(D) Square planar

30. The average of 5 consecutive
numbers is n. If the next two numbers are 2|
included, the average of the 7 numbers will o
(A) remain the same  (B) increase by 2
(C) increast?_by 1.4 (D) increase by 1

31, must be refreshed continually to
store information, otherwise it will lose what
it is holding.

(A} Double Data Rate Synchroneous Dynamic
Random Access Memory (DDR-SDRAM)

(B} Dynamic Random Access Memory
(DRAM)

(C) Synchronous Dynamic Random Access

Memory (SDRAM) :
(D) Static Random Access Memory (SRAM)

32. Consider the following statements about
World Trade Organization (WTQ).

l. The World Trade Organization (WTO) is the
only Global International Organization dealing
with the rules of trade between nations.

Il. Afghanistan joined the WTO on 29 July
mige:  as its 164" member.
]7% Choose the correct option given below.
38 (A) Both the statements | and |l are correct
(B) The statement |l is correct
(C) The statement | is correct
(D) Mone of the above

33. Digital signature are based O0 ————

cryptography. ;
(A) Shared-key (B) private-key
(D) Publickey

(C) Internal-key f
. ento
34. Inflation target to be set bg tt!mﬁn‘;‘;iﬂ';" Bank,

India, in consultation wit
once every ears
AJ 3 TB) 5

) 0 D) 4

-5-

28, wise BRAKES # Fre e ) feufa 378 avrigrn
i syaftrg w0 w sfafda @i ?

(A} 2 (B) g el

(c) AB} T - e
29.  XeF , ) dr= 8 f?’f f;\;/; f’

(A) Fergra arehifi PH T &S

(8) = fafrofiia AR

(cy fargm =l wwiet N

(D) &l g

30, 5 i gEsdl &1 ohad n 2 | AR s @
demail ) sivg G s, |1 7 el & A

(A) |OE & (B} 2 =% ST
C) 1.4 W@ ST (D) 1= =AU

31. F1 eEn foke @ e e
3, i =] sieTiE @, =191 78 T4 |1 A
T3y R £ |
(A) Eeet gl e Thh i tven T

In{t (DDR-SDRAM)
(B) =T ten UadE UHT (DRAM)
g}fﬁﬁqﬂmﬁmmf{aﬁﬂﬁuﬁ
(SDRAM)
(D) Tfeer tven twdm Tl (SRAM)

32, fim s T (Ssegdid)) F AR A
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(C) Y |
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33, fefmafm=__
FAE |

(A) TTEI-A
(c) sriafr-ht /E; A -

34, whi 99 § u A fied A% ¥ 9
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%F (A) 3 -B) 5
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35.  Which of the following is @ detrivorous 3

(B) Earthworm
(D) cockroach

{A} Honey bee
(C) Ascaris

A is thrice as good a workman as B and s,
therefore, able to finish a piece of work In
60 days less than B. The time (in days) in which
they can do it working together is

(A} 23 days (B) 22 days

36.

1 1
(C) 235 days (D} 225 days

37.  Which of the following administrative subject

is not mentioned in Union List of the Indian
(8) Defence

Constitution ¥ E%E
(D) Police Sk

(A) Banking
(C) Foreign Affairs

What was the Government (India) expenditure
on education as a percentage of GDP in the
year 1951-52 7
(A) 0.64%

(C) 4.20%

38.

{(B) 2.18%
(D) None of the above

39. The productivity and distribution of
plants is heavily dependent on
(A) Water (B) Temperature

(C) Soll (D) Light

40, Anger:Rage:: Moist:?
(A} Sad

(C) Dry

(B} Burn
(D) Drench

41. Hurnan body temperature being

suited for enzyme catalysed reactions.
(A} 360K (B) 273K
(C) 310K (D) 290K

IAEA widely known as the world's

(A} Atoms for Power and Drugs

(8) Atoms for Peace and Development
(C) Atoms for Piece and Download

(D) Atoms for Pace and Destruction

42,

The word Internet is derived from two words
(A} Interface and networks

(B) Inter communication and networks

(C) Internal and networks

(D) Inter connection and networks

A small rise in prices or a sudden rise in
prices is not a

{A) Hyper deflation
(C) Paraflation

a1,

(B) Inflation

(D} Deflation

37.

38.

39.

41,

43,

a4,
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45 Who published the Newspaper g;
(A) j“seph Garibalg; Risorgiment’ 7 a5, fefiie) g T3 RRER e o ?
(B) 0seph Mazzin; (A) ity aredl
(C) Victor Emmanue! -l ,fj.ﬁ} s A
(D) Count De-Cayoyr () fRrae wrgee — I
46, A jar full of Wwhisky contains 40 (D) #r3e €1-
?{,Efa?nff ;h.: whisky is rEp!ace? @: :Ical;]ul. 6. fReh a Wy oF I i 40% Ieied ¢ | 7 e
# armhgigwgzéafcuhnl and now the Percgs:ageg ¥ v e ) g @ T e <tren 2 foreid 19%
whisky remaiié"i“"d to be 26. The quantity of Seiee o 3N o1 Iehieat H Al 26 AT
2 - Wlﬁmﬁpﬁaﬁm% ﬁoaf'l‘fou
kS (B) 2 2 (B) 2 6®-
3 c (A) = - e €
© 2 1 . : ==
47. An officer known as Assistant Commandant or 47. WEHME FHEZ W T F@EIT e I TF
a Subedar, is equivalent in rank to a aferaTd FRETTFA A |
(A) Deputy Superintendent of Police ”%3’ 3 (A) 30 gRera artfiers
(B) Commissioner #edle () SRR
(C) Inspector General of Police () gfera wer frtersr
(D) Superintendent of Police ) gﬁ-m arsfiaren
48. In this question, two statements are given | 48. W , 9w g e # fords =me 9t e R
__ followed by two conclusions, choose the e # | 3 Frerd gfe st afhs =1 @ watas gdis
E‘EE conclusion(s) which best fit(s) logically. A6 | >
i seat te: ) YA T @
it i 1. wft ¥ i € @
1. All pen are pencils. o
2. All books are pen. 2. 8Vt g& | é@@
Conclusions : : e ~L
|. Some books are pens. “l' ﬁmﬁ% 3 1|)<
Il. Some pencils are books. : -
- ) A ot fassrd | 3 & 11 SR R
_(A) Neither conclusion | nor Il follows ) e fAed || STgET Fa &
(B) Only conclusion Il follows (C) @i foread | 37 11 SrE i &
(C) Both conclusions | and | follow O] s P 1 s = &
(D) Only conclusion | follows
49, HWTSIR ST i % HEg LT 2 |
49, Socialization helps people (A) (B) 3 (D) 3
h (B) and (D) A
E:i '?: }u:nc:ian successfully in their socia Z8! ;:qi;‘im ok Y
worlds Sl -
(€) To know the ﬂiﬁer&@“ﬂb”‘weeq- 6 Fﬁﬁﬂ? ﬁummm
introverts and Extr'i:; and norms that 7 & for s gt - i et o
(D) To adopt beliefs, va ol culture afafafires =@ ¥

represent its non-mate

Py A

A
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51.

52.

53.

54.

55.

In a class of 40 students, 12 enrolled for both
English and German. 22 enrolled for German. |f
the students of the class enrolled for at least one
of the two subjects, then how many students
enrolled for only English and not German ?

(A) 18 (B) 30

(C) 28 (D) 10
The is the portion of window that

holds the web page present in the current tab.
(A) Status Bar (B) Command Bar
(C) Favorites Bar (D) Content Area
Select

; the correct mirror image of the given
figure

when the mirror is placed at line AB.

AT B

TH
wy | (B)
HN

N
(C)

e (D)

HN

(A)

nH

In which district of Haryana Maharana Pratap
Horticultural University located ?

(A) Karnal (B) Hisar

(C) Bhiwani (D) Gurugram

To resolve the growing problem of
Non-Performing Assets (NPAs), or loans on

which borrowers have defaulted,
is set up.

(A) True Bank
(B) Good bank
(C) Bad Bank

(D) Centre for Monitoring Indian Economy
CPU stands for

(A) Central Processing Unit

(B) Computer Preprocessing Unit
(C) Central Preprocessing Unit
(D) Computer Processing Unit

ai—

o,

s0. 40 frenfiai i wen A 12ﬁaiﬂeﬂaﬂwrﬁqg}ﬁ

CMIMS --51

¥ fora AmrEA R0 | 223 514 % fom
ﬁmﬁi?qﬁm%ﬁﬂﬁﬁmwa?ﬁ
B 0 T farwd o fore g &, o foe farenfof
e 3 % for AT o, S 3 forg -
(A) 18 (8) 30
(C) 28 (D) 10
51. 2 &1 a8 v R <) 9dAE &9 o
39fE 39 IS H U FAT R
JA) BT TR (B) AT AR
(c) Wafiea aIr (D) e T
52. s s 1wl o s g e g 2
@1 AB W {@1 Tl 2|
/N
HU
MA
\F/
A~k B

N
(A) v | (B) /::\
HN

nH
53. wf@mn ¥ fHg R

(D)

H Wermun e srEE

frataen fem i ?
—AR) T (B) fEmm
() P (D) TR
54, mﬁaﬁarrﬁ‘aﬁ[wmsm%mﬁqmamﬁﬁaﬁ
ﬁ%aﬁ%,ﬁmmaﬁwﬁ%ﬁm
RESLEE R R
(A) w==1 =i
(B) 38 ¥+
(C) T &=

Cligi
AP) VTl Steferaen frre) 3z %%‘Lﬁ:
55. CPU &I Hded &
mE
B) FEX
(C) T8 A A
(D) SFeget safé
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58

9,

61,

62,

63,

Cognizable offe
been defineq
Eg; Hnger Section )

Nder Secy R
(C) Under 5Ech-g" 2(a) of crp e

n2(1 :
(D) Under Section 2(,;}] g:g:;’cl:

10 m tg the East,
and walked another 15

e I—"'Idfar Ind:
Ndian pen,
3l Code h
ds

| went

then turned North
. then| turned West

(A} 3m | from my house 7
(©) 5m (B) om
(D) 2m

The layer ﬁf the atmo
layer is situated ?

(A) lonosphere

(C) Thermosphere

sphere in which Ozone

(B) Troposphere
(D) Stratosphere

The rati:n of the number of boys and girls in a
college is 7 : 8. If the percentage increase in
the number of boys and girls be 20% and 10%

f:lpech\feh‘, what will be the new ratio ?

:22

(B) 8:9

(C) Cannot be determined

(D) 17:18

When the market price of the goods (p)
multiplied by the firm’s output (q), we}get

(A) Average revenue

(B) Total revenue (N "ﬂ“\&

(C) Marginal revenue

(D) None of the above

If | am young' is written as ‘24 ? :?snd
sheetal is young’ as ‘6 14" and 'l like

Sheetal’ as ‘5 7 6, then ‘I' is written as - maey
(A) 5 (B2 S
(C) 7 (D)2 '

f a magnetic material isthli‘-"lflﬁemfeﬂlzzzg
susceptibility (X) = =% and type of
magnetic permeability (1) .

magnetic material is 0, diamagnetic
(A) 1, paramagnetic B) ¥

(C) -1, diamagnetic

to assess the credi

(D) 2, ferromagnetic
tworthiness of

Agen
individual borrowers (B) CIBIL
St o
-~ ".'4« ‘*}u'f
“n o OV aN
— 2o

CMMS -S1

6. 3w e Az (orddeh) ¥ ded d¥a My A

it e T

(A) ®arrefid) ) um 2(i) % aga
JB) dharrefid 401 ur 2(a) % dea
(C) Wiarrdieht = w0 2(1) % e
(0) Hamdielt ) v 2(c) % Ea

# 109, e i man ok 3w A g o
15 1. =, o afvem | g2y aiw 124,

el 39 fs fon g2 oiv 15 ., =en |
7 o A forer 4 g g ¢

57.

42—
.
‘-ﬂ'

(A) 3m (B)-8

(C) 5m w
58. aHza i g8 yid FaE ST @@

feme

(A) 3TE W (B) &y Wew

(C) unreha D) aHa™ HE

TF Fiow § d2w i aefF f e =
I 7: 8 ¢ | afe wiei ol wefrdi £ gem
T R 20% 31 10% 5 gfa Sl 2, 71 e

1 ? DN
A) 21:22 .'."%5
(A) N

<48) 8:9
(€) Fruffe 7 fofem < wara

(D) 17:18

60. E?Wfﬁ (p) o w4 =t e (q) &l

A) 3hed Tee
TS

T
) 3utiad 1 A F 7

61, IR 1 ag égq_ng‘ H 2@7 3ir ‘E%@al is
oung’ 1@3 1 like Sh I"=hl *
il e S S
(A) 5 C(B) 4
497 (D) 2
62. ufe & gaehrm vl A gadha genmfea
(x) = =1, @ WY Feehra qroma () i
qaeIY ga1e i W R
(A) 1, WU +48) 0, wftrgerfry
(C) -1, W= (D) 2, dredeia
63, wafRITH U IUR T F qeaiE
et weie & o

&

(A) CABIL CIBI
(C) FIBIL ffg; M\_.rEI.-IL . ﬂ
:Mﬁ' Y
A 1 JH_"w-r}‘ ?“1 W
LTS X \°
72N = ¢
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67.

68.

69.

70.

Which of the following is not an agency %
socialisation 7

(A) Peer group

(B) Family

(C) Shopping

(D) Books

Five boys are sitting in a row. A is on the right cfvf
B, E is on the left of B, but to the right of C. IfAis
on the left of D. Who is sitting in the middle ?

(A) A (B) E
(C) B (D) C

There are six persons A, B, C, D, E and F. C is the
sister of F. B is the brother of E’s husband, D s the
father of A and grandfather of F. There are two
fathers, three brothers and a mother in the
Eroup. How is F related to E ?

(A) Daughter (B) Uncle

(C) Son (D) Husband

comprises a set of several routines
and start-up instructions inside the ROM.
(A) Basic Input Output System (BIOS)

CMms - S1
64, PRI AT Ty "R 7
() e AR T
{B:l QEE‘T&ETR glv (=]
(¢) wlard 210
4p) TEE

sareh Th IR A A3 E 1A, BRqyy
E,E%iﬁéiﬁﬂC%aﬁ%|ﬂﬁA’n
Fadd, AnAd I A7
(A) A (B) E
(C) B (D) C

: afa A, B, C, D, E3MF¥ ICFfiagd
B, EF U FI WIT R | D, AT R sy p 3y 2y
8 1w A 2 e, o s wm g g e g
e SR et & 7

65.

66.

(A) Tt (B) =m=n
(C) 97 (D) ufy
67. ROM 3 et %3 wmil sk amrifirs

(Reré-31) rgeeii 1 ueh = T |
A#) S F9E MY firem (8103)

(B) Uniuerz:'.al Serial Bus (USB) (B) ?@aﬁﬂmﬂ'ﬂ (UsB) e
{;] Expansion port (€) frsmor 9y A I e
(D) Port (D) 9% -—.2!‘1'-,__'{:1 nell
~
The n.:::!ue of uc3 + ﬂcuis @ 15_(33 + ECHW'H'F[%
15 '

(A) S (B) £ (A) ISCm ABY B¢

16 30 =
@ ", R (©) *, 0) *c,
The developing embryo will ﬁﬂmﬁa qfire
waste suhstancges whi?h c:: beﬂlizmg:::dméi b L\ L T mm% 8
t;ansfe;ring them into the mother's blogg — T QA ¥ 1 i )
through the -l
(A) Uterus (B) Placenta %}mmﬁl
(C) Anus (D) Urethra (©) (8) ST .
Find the missing number, @ ‘Fl ‘%

S1ED TS §&1 T4 ;¢ |

'%EI 9119

14675
(A) 289 (B) 297 $40]da
(c) 200 (D) 298 ‘[gl 299 (B) 297

: ) 300 (D) 298

+10-
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A piece of wire of ¢

esist ; :
equal parts, These Dartzr;iil: IS Cut into fiye

. hen co
in patalle%. If the €Quivalent resistanc:r;it:?
combination is R’, then the ratio V i ;
(A) S ® 1y " '5

Vs
© Y (©) 25
The

e is a system that
simple and consistent way to org
data available on the Internet,

(A) Web site (B) Web browser
(C) Hypertext (D) Web server

In the following series, how many such odd
numbers are there which are divisible by 3 or
5, then followed by odd numbers and then
also followed by even numbers ?

12,19, 21, 3, 25, 18, 35, 20, 22, 21, 45, 46, 47,
48,9, 50, 52, 54, 55, 56

(A) Three (B) Nil

(C) Two (D) One

provides a
anize large

The practice of assessing a culture by its own
standards rather than viewing it through the
lens of une’s own culture is called

(A) Both (B) and (C)

(B) Cultural relativism

(C) Cultural imperialism

(D) None of the above

Satellite Mission — TRISHNA is for

(A) Eco-system stress and water use
monitoring 3

(B) Pesticide monitoring

(C) Ecological balance monitoring

(D) None of the above - EE
Which is the famous work of Pliny ? % =
(A) Si-Yu-Ki

(B) Natural Historia

(C) Periplus of Erithrean Sea
(D) Indica

h
If you save Re. 1 today, Rs. Ztomortr:rw;::i.n*: : iz
next day and so on, then your to
two weeks will be
300
(A) Rs. 16,383 (B) Rs. 18, e
(C) Rs, 16,300 (D) None©

CMMS - 51

71, ity R amen wh W g ate et v i

I T R | Rt g el R wie ST g |
4fR 78 i = weged shdw R}, @ RL, H
AU B

(A) 5 A8B) %5

(C) % (D) 25

72, T WoTTeft @ S e W IRy
a2 iiehel ) vk wran i P wEfeae F3
&1 Trlten Iqerey A & |
(A) 9= HEe AAB) dd A
(C) BrEYRFL EEEK:E:

73. P=fifes gaen ¥, fredt faw ded € =
337 5 & favrsa € oin R =g famw ge 3

TW qaEEn § ? .
,18, 21, 3,25, 18, 35, 20, 22, 21,45, 46, 47,
48, 9,50, 52, 54, 55, 56

CL iR £
© 2 ©) @

74. Tl & d@f | ™ FEE FH F T9E
IG% WA F UEH G [eAiEA F F TG F
_Wﬁaﬁ%%l
—A) (B) N (C)

(B) Wi GreTTETE
(C) TTEHite THgaTR
(D) 39l # & = 7

75, IUETNA-TRISHNA ____ ®q? |
AR) it @ gama i st e
[B}mﬁm
(c) witfeufafia wgem frmof
(D) I | & Frd 7

76. et A vt sl ?

(B)
Ac) it 31T e
(D) ¥fe
| 37 3 A 1A TR ¥, A ww w2,

! ﬁqmmﬁﬁmz’tmmmﬁﬁ?ﬁg
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A5

ith
78. is where a person, "*f"“"'f'::r;:tes
any property, dishonestly misaPP disposes
any property, or dishonestly uses of s
of that property in violation of any et
of law or contract or wilfully suffer any ©
person to do so.

(A} Criminal breach of property
(B) Cheating

(C) Trespassing
(D) Criminal breach of trust
79. Inthe

_Usenet newsgroups and
electronic mail (e-mail) came into picture.
(A) 1980s (8) 1970s
(C) 1990s (D) 1960s
80.

Which pattern most closely resembles the
following pattern ?

d
Qt‘h

(A)
Where is the !nten;n'aﬁu.na"u Cuurtnf.lushce (icn ?

(A) China b (B), Ha_gu:g,’
(C) Paris _NEHE_IH{D} N%‘Tork‘ :

—\J"!ur- ‘{:;

81.

The Reserve Bank has introduced banknotes

in the Mahatma Gandhi Series since
L e A ol 3 'I\lg.‘-?\..r"" ot - B

mﬁ%ﬁﬁﬁﬂlﬁﬁ,ﬁaﬁgm
7. , 26T 3 B o

(A) 1980s AB) 19705
(C) 1990s (D) 1960s

80. =mH-u1 ¥ Frafafad e @ srfimam i
T e 7

“ g

T e

(A) S SESREEE i tB) it i«
;qu AHCIF] uzm}w' G
82, T & 3 were it Ajgen § d e T
Se S LR e heiiiont (2
(a)F1 906 SEEREHPSRUSREEAS

LA -Eu.g}.fta'_ga_{gm{ﬁ] IlBFEJQJ}EZ‘I‘n x>
JB1974 B B
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Evolution of ;¢
er
geographical arag (. S

: : Start
literally radiating g Otrlfhen

(habitats) is Called
(A) Adaptive breedin
(B) Adaptive EUG|UﬁQEn
(C) Adaptive radiatign
(D) None of thesea

rEafrDI'n a point and

:;;:;:: 86 - 88 : Reaq the following

iL Vi ;r;s*&e;the questions given below
s t’hekcéntre. andS are sitting around a circle
N, who is third i

R to the left of p, s not a neighbour

Sis the nei o
ight of pﬂe:@hbnur of O and R and is third to the

L is not the nej

ghbour of 0, who i
left of N. wha is second to the

Which of the following is the pair of adjacent
persons ?

(A) Land P (B) Mand N
(C} Oand M {D} Mone of these

87. What is the positionof Q. ?
(A) Third to the right of M
(8} Immediate right of R
(C) Second to the left of S
(D) Immediate left of N

i [ iti hen
If N and O interchange their positions, t
which of the following will be the correct

statement ? fa
0 is between L 8@ :
E lig}} 5 is on the immediate right of N
5 (C) N is between LandQ 22
| (D) Ris second to the right ©
Therateat which tl;e I{:st:irl-s; ]rlallgﬁglsc ﬂi:ﬂl;ﬂ;.;nt:g
of In
Eﬂeri?*nrgicigfg:n ksin the event of any shortfall
0
of funds is refers to

85,

cMMS —S1

: #
iz @) ayrior A T g e M &
%fﬁa“mﬁm%mmmm(mw
S ke weam e |

\{fl) e foerra
(C) e ffeR

(D) 57 @ =ig FE

A v, Bﬁ—ss:ﬁm%rﬁaﬂ*eﬁmaﬁwﬁgqﬁﬂ:ﬁ%

fium
l

87.

88.

89,

90,

) Bank raté
Repor
E Referse e ﬂgiti
(D) None ofthte umber of pieces Into
: imum n A
WEEL l: EEEenlan be cu l{?g]li:u
whic
(A) 150 (D) 76
(C) 100 13-

7t = 3ot Eie |
L,m,m,q,p,_q,ﬁaﬁtshaﬁ‘ra:ﬁngamﬁ
AU E |

N, STt p 3 = ey 2, R 3f M o wie e &)
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91.

English Language _
priate words from

Fill in the blank with appro
the alternatives given below them.
~_you like.
-{B) Where
(D) Wherever

You can go
(A} Whither
(C) Whence

Cove one-word substitute for the following.

“cvond the power or laws of nature.
A) Surmise

\B) Superlative

{C) Superfluous

(D) Supernatural

In the following question a sentence has been
given in Direct/Indirect Speech. Out of the
four given alternative, select the one which
best expresses the same sentence in Indirect/
Direct Speech.

“Call the first witness”, said the Judge.

(A) The Judge commanded to called the first
witness

) The Judge commands to call ths.I ﬁrst

witness

(C) The Judge cummanded to call the first
witness 510

(D) The Judge plesaded to mll the ﬁrﬁ\

witness as
%-‘H M. F EB
!he wurd given

erna ves Iven e
S

TBF BN BT P‘Ff 7

94 ﬁimse the ﬂ'ghtgynonym
lﬂl e

TTEUYIS T O L

fo=t wTdn
9. i 35 T FRVTUT
Aare |
(A} 5
(8) 1
) @l

[m]2TALE
E2E

() A
(D) T @ g R

98, Fra @l & 3= § 9 Wl A ft atferg g
| SR, : SR <\ &

IIA] mﬁt T <
DK S

AC) &L
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100 Questions

Que. 1 If 'him her them' is written as 'de ne ke' and 'do him why' as 'ne lk ir' and 'are they do' as 'sh fu lk', then
'do' is written as

1. ne
2. fu
3. Ik
4. ir

Correct Option - 3

Que. 2 Which one of the following is not the member of Cabinet Mission ?

1. Lord Patrick Lawrence
2. Sir Stafford Cripps

3. A.V.Alexander

4.  Mountbatten

Correct Option - 4

Que.3  With respect to armed police, an Inspector/Sub-inspector commands a

1. Section

2. Platoon
3. Battalion
4. Company

Correct Option - 1

Que. 4 From the given answer figures, select the one in which the question figure is hidden/
embedded.

\ /
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Correct Option - 1

Que. 5 The HDI ranking of India according to 2020 UNDP HDI report is

1. 136
2. 130
3. 131
4. 182

Correct Option - 3

Que. 6 Out of 6 boys and 4 girls, a group of 7 is to be formed. In how many ways can this be done if the group
is to have a majority of boys.

1. 120
2. 90
3. 100
4. 80

Correct Option - 3

Que. 7 Which of the following is a certification mark employed on agricultural products in India by the
Directorate of Marketing and Inspection?

1. AGRMARK

2. AGMARK

3. AGPMARK

4. None of the above

Correct Option - 2
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Que. 8 Consider the following statements about the PENCIL portal of the Ministry of Labour and Employment
of Central Government,

1. It is an online platform that aims at engaging the Central Government, State Government, District, Civil
Society and the Public in eradicating child labour to achieve the target of child labour free society.

2. This portal enables the citizens to raise a complaint and report incidents of child labour through effective
tracking and monitoring mechanism.

1. Only the statement 1 is correct

2. Only the statement 2 is correct

3. Both the statements 1 and 2 are correct
4

None of the above

Correct Option - 3

Que. 9 A typical angiosperm embryo sac, at maturity, though 8-nucleate is

1. 6-celled
2. 7-celled
3.  8-celled
4.  9-celled

Correct Option - 2

Que. 10 The powers of the Panchayat are listed in

L. 12t Schedule
2. 11" Schedule
3. 4™ Schedule
4. oth chedule

Correct Option - 2

Que. 11 Name the State which succeeded in the efficient implementation of milk co-operatives.

1. Karnataka

2. QGujarat

3. West Bengal
4.

Mabharastra

Correct Option - 2

Que. 12 1 you start your journey on Sunday 22" June 2003, what will be the day of the week after 7 days of
your departure?

1. Saturday
2. Monday
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3. Friday
4. Sunday

Correct Option - 4

Que. 13  In which year did Napoleon Bonaparte crown himself as the Emperor of France ?

1. 1799
2. 1802
3. 1815
4. 1804

Correct Option - 4

Que. 14  United Nations High Commissioner for Refugees (UNHCR) headquarters at

1. Geneva, Switzerland
2. Delhi, India

3. Rome, Italy

4. None of the above

Correct Option - 1

1 1 1 3
Que. 15 8? +SZ X 133 —|—6g =7

1
1. 213
1
2 185
1
3. 195
4. None of these

Correct Option - 4

Que. 16 A projectile can have the same range R for two angles of projection. If t; and t, be the time of flights in
the two cases, then the product of the two time of flights is proportional to

1 1
" R
2. R
3. R2
4 1
-

Correct Option - 2

Que. 17 The extended observation of the social perspective and cultural values of an entire social setting is
termed as
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1

2.
3.
4

Interpretive
Ethnography
Phenomenology

Narrative

Correct Option - 2

Que. 18 In a row of girls, Rita and Monika occupy the ninth place from the right end and tenth place from the

left end, respectively, if they interchange their places, Rita and Monika occupy seventeenth place from

the right and eighteenth place from the left, respectively. How many girls are there in the row ?

1
2.
3.
4

25
26
27

Data inadequate

Correct Option - 2

Que. 19 A cube of volume 64 cm? is is cut into two smaller and identical cuboids. The faces of dimensions 4 x

4 of one of the cuboids are painted with black color and the rest of its faces are painted with yellow

color. One pair of adjacent faces that do not include any face of dimensions 4 % 4 of the other cuboid are painted
with yellow color and the rest of its faces are painted with black color. Now each of two cuboids are cut into 32
smaller and identical cubes.

How many of the smaller cubes have exactly three colored faces?

1
2.
3.
4

8

16
14
10

Correct Option - 1

Que. 20 What are the parts of each single Carpel ?

1
2.
3.
4

Stigma, Pedicel

Stigma, Petal, Tepal
Stigma, Style and Ovary
Stigma, Style

Correct Option - 3

Que. 21 MICR stands for

1

2.
3.
4

Mechanical Ink Character Reader
Mechanical Ink Code Reader
Magnetic Ink Character Reader
Magnetic Ink Code Reader
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Correct Option - 3

Que. 22 To which country did Herodotus belong?

1. Irish

2. Germany
3. England
4. Greek

Correct Option - 4

Que. 23 A car travels a distance of 75 km at the speed of 25 km/hr. It covers the next 25 km of its journey at the
speed of 5 km/hr and the last 50 km of its journey at the speed of 25 km/hr. What is the average speed

of the car ?
1. 40 km/hr
2. 25 km/hr
3. 15km/hr
4. 12.5 km/hr

Correct Option - 3

Que. 24 Which of the following is not an expansion card ?

1. Complementary metal-oxide semiconductor (CMOS)
2. Personal Computer (PC) card

3. Modem

4. Video card

Correct Option - 1

Que. 25 Sheet erosion takes place on which type of lands after a heavy shower and the soil removal is not easily
noticeable, but it is harmful since it removes the finer and more fertile topsoil?

1. Hilly lands

2. Coastal land

3. Level lands

4. All of the above

Correct Option - 3

Que. 26 Creation of new individuals in unicellular organisms is by

1. Fission
2. Fusion

3. Sexual reproduction
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4.

Phylogeny

Correct Option - 1

Que. 27 Select the correct mirror image of the given figure when the mirror is placed at line AB.

A
12WEdgOO08

B

goobpamel
800pb3awWSHt

ISMEQAQOO0S8
800pb3awst

Correct Option - 4

Que. 28 The first railway steamed off in India from Mumbai to Thane in 1853 covering a total distance of

1
2.
3.
4

34 kms
75 kms
78 kms
53 kms

Correct Option - 1

Que. 29 Identify the missing numbers.

1
2.
3.
4

9 | 11| 13
1315 17
10 12 || 14
14| 16| ?
1T |13 ?

22,20

14,18

12,13

18, 15

Correct Option - 4

Que. 30 If 40 persons consume 240 kg of rice in 15 days, in how many days will 30 persons consume 48 kg of

1.

rice ?

6% days
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3
2. 3% days
3. 4days
4. 9 days

Correct Option - 3

Que. 31 As per Reserve Bank of India (RBI), Account Aggregator is a

1. Non-banking financial company
2. Banking financial company

3. Insurance company
4.

Credit borrower company

Correct Option - 1

Que. 32 Most important ecologically relevant environmental factor is

1. Temperature
2. Light

3. Water

4. Soil

Correct Option - 1

Que. 33 In pre-independent India who was the first to discuss the concept of a poverty line?

1. Dadabhai Naoroji

2. Gopalakrishna Gokale
3. Vinobha Bhave

4. Vinoda Bai

Correct Option - 1
Que. 34 is a special software that enables users to read/view web pages and jump from one web page
to another.

1.  Web server
2. Web browser
3.  Web site

4.  Web page

Correct Option - 2

Que. 35 The sum of the first 20 terms of the series 5+ 9 + 13 + 17 + ..... is

. 800
2. 850
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3. 860
870

Correct Option - 3

Que. 36 A man walks from his house towards north and covers 15.5 km and then turns left and travels 7 km. He
then turns left again and after travelling 31 km again turns left and stops after travelling 7 km, How far
is he from his house?

1. 46.5km
2. 155km
3. 85km

4.  60.5 km

Correct Option - 2

Que. 37 Aschelminthes is circular in cross-section, hence, the name

1. Roundworms
2.  Flatworms

3. Pinworms
4.

Plateworms

Correct Option - 1

Que. 38 Two point charges exert on each other a force F, when they are placed r distance apart in air. When they
are placed R distance apart in medium of dielectric constant K, they exert the same force. The distance
R equals

1.

Lo
2 % == =
5 =

Correct Option - 1

Que. 39 The tectonic plate 'Nazca' is situated between

1. Central America and Pacific Plate

2. South America and Pacific Plate

3. Asiatic and Pacific Plate

4. North American and South American Plate

Correct Option - 2

Que. 40 The traffic lights at three different road crossings change after 24 seconds, 36 seconds and 54 seconds
respectively. If they all change simultaneously at 10:15:00 AM, then at what time will they again
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change simultaneously ?

1

2.
3.
4

10:17:02 AM
10:18:36 AM
10:16:54 AM
10:22:12 AM

Correct Option - 2

Que. 41 Choose the right answer, based on the relationship given in the question.

1
2.
3.
4

Clasp : Bracelet

Wrist : Watch
Cuff : Trousers
Hook : Coat
Buckle : Belt

Correct Option - 4

Que. 42 According to Comte the traditional method of Sociology is

1

2.
3.
4

Positivism
Antipositivism
Imperialism
Relativism

Correct Option - 1

Que. 43  Consider the following statements about United Nations General Assembly (UNGA).

1. The United Nations General Assembly (UNGA) is the main policy making organ of the

Organization.

2. Each of the 193 member States of the United Nations has an equal vote.

1
2.
3.
4

The statement 1 is correct
The statement 2 is correct
Both the statements 1 and 2 are correct

None of the above

Correct Option - 3

Que. 44 The profit earned after selling an article for Rs.1,754 is the same as loss incurred after selling the

1.
2.

3.

article for Rs.1,492. What is the cost price of the article?

Rs. 1,589
Rs. 1,523
Rs. 1,689
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4. Rs. 1,623
Correct Option - 4
Que. 45 Two trains 108 m and 112 m in length are running towards each other on the parallel lines at a speed of
45 km/hr and 54 km/hr respectively. To cross each other after they meet, it will take

1. 10sec
2. 12 sec
3. 9sec
4. 8sec

Correct Option - 4

Que. 46 Which number will come in the place of question mark?
5,7,11,13,17,19,?

1. 23
2. 25
3. 29
4. 31

Correct Option - 1

Que. 47 The first Secretary General of UNO

1. U Thant

2. Trygve Lie

3. Ban Ki-Moon
4

None of the above

Correct Option - 2

Que. 48 In the question, two statements are given followed by two conclusions. Choose the conclusion(s)
which best fit(s) logically.

Statements:
1)AllK are L

2)All Lare M
Conclusions:
I.AIIK is M

II. Some K are not L

1. Only conclusion II follows

2. Only conclusion I follows

3. Neither conclusion I nor II follows
4

Both conclusions I and 11 follows
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Correct Option - 2

Que. 49 European Union Naval Force is

1. EUNAVFOR
2.  EURATOM
3. NUTOM

4. NUKASH

Correct Option - 1

Que. 50 Taxonomic studies consider if a group of individual organisms with fundamental similarities as a

1. Taxa

2. Species
3. Specimen
4

Twin

Correct Option - 2

Que. 51 PCMCIA stands for

1. Personal Computer Memory Card Interaction Academy

2. Personal Computer Memory Cable International Association
3. Personal Computer Memory Card International Association
4.

None of these

Correct Option - 3

Que. 52 Bay of Bengal Initiative for Multi-Sectoral Technical and Economic Co-operation (BIMSTEC) was
established in

1. 2000
2. 1997
3. 2010
4. 2001

Correct Option - 2

Que. 53 The approach of sociology is actually an attempt to comprehend social phenomenon in terms of its
connection to the system as a whole is the

System approach
Functional approach

Humanistic approach

bl S

Psychosocial approach
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Correct Option - 1

Que. 54 Six persons playing a game sitting in a circle facing the centre. Vijay was to the left to Sudhir. Amar
was between Rakesh and Saurav. Neerav was second to the left of Amar. Who is second to the right of

Vijay?

1. Amar

2. Rakesh

3. Saurav

4

Neerav

Correct Option - 4

Que. 55 Cyclical changes during reproduction in sheep are called

1. Oestrus cycle

2. Menstrual cycle
3. Sexual cycle

4. Asexual cycle

Correct Option - 1

Que. 56 The standard rules of a polite Internet behaviour are called

1. Search engines

2. Domain

3. Netiquette

4. Post Office Protocol (POP)

Correct Option - 3

Que. 57 Which of the following denomination of banknotes issued by the Reserve Bank of India was
withdrawn from the legal tender character?

1. Rs.50andRs. 100
2. Rs. 100 and Rs. 20
3. Rs. 500 and Rs. 1000
4. None of the above

Correct Option - 3

Que. 58 As per Criminal Procedure Code, 1973 Section 2(x), a warrant case is one that is related to an offence
whose punishment can be a death sentence, life imprisonment or imprisonment for a term exceeding
years.

.10
2. 2
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Correct Option - 2

Que. 59 is known as 'wood spirit'.
1. CH;0H
2. C,H;0H
3. CgHsOH
4. CHj3(CH,),CH,OH

Correct Option - 1

Que. 60 The denominator of a rational number is 3 more than its numerator. If the numerator is increased by 7
and the denominator is decreased by 2, we obtain 2. The rational number is

NN W [\
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Correct Option - 2

Que. 61 What is viability of seeds?

1 Presence of temperature
2. Excretion in seeds

3. Respiration of seeds
4

Presence of life in seeds
Correct Option - 4
Que. 62 Under the Criminal Procedure Code, 1973, the can pass any order to prevent any
miscarriage of Justice or abuse of the process in the Indian courts.

1. District Court
2. Civil Court

3. High Court

4.  Supreme Court

Correct Option - 3

Que. 63 How many cuts are required to cut a cube into 512 pieces?

1. 511
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.70
3. 21
4. Cannot be determined

Correct Option - 4

Que. 64 Directions: Study the given information carefully and answer the questions that follow:
I. Six friends P, Q, R, S, T and U are members of a club and play a different game of Football, Cricket,
Tennis, Basketball, Badminton and Volleyball.
II. T who is taller than P and S, plays Tennis.
II1. The tallest among them plays Basketball.
IV. The shortest among them plays Volleyball.
V. Q and S neither play Volleyball nor Basketball.
VI. R plays Volleyball.
VII. T is between Q who plays Football and P in order of height.

Who among them is taller than R but shorter than P ?

1. Q
2. T
3. U
4. None of these

Correct Option - 4

Que. 65 Which of the following statements in not true?

1. Pis shorter than R
2. Qistaller than S
3. Sistaller than R
4. Tistaller than R

Correct Option - 1
Que. 66 Who will be at the third place if they are arranged in the descending order of their height ?
L. Q
2. P
3. S
4, T
Correct Option - 4

Que. 67 is used as froth stabiliser in froth flotation method.

1. Pineoil
2. Fatty acid
3. Xanthate
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4. Cresol

Correct Option - 4

Que. 68 controller is the interface that enables the computer to read and write information to the hard
drive.

1. PCcard

2. Floppy disk

3. Hard disk

4. Direct memory access

Correct Option - 3

Que. 69 When the species-area relationships among very large area like entire continents is analysed, then the
slope of the line becomes

1. Less steeper
2. Vertical

3. Parabola

4.  Much steeper

Correct Option - 4

Que. 70 Recommendations regarding Police Reforms was given by the Committee

1. Justice G. Rohini Committee
2. Justice M. Rajeev Committee
3. Justice Malimath Committee
4

Justice G. Raghavendra Committee

Correct Option - 3

Que. 71 Who among the Haryana policemen was the recent recipient of police medal for gallantry?

1. Pawan Kumar, Constable
2. Mahavir Singh, Constable
3. Sabal Singh, Constable

4. Minter Singh, Constable

Correct Option - 1

Que. 72 What is the angle between the hour hand and the minute hand of a clock when the clock shows 7:24
a.m.?
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3. 7%’
4. 7¢°

Correct Option - 3

Que. 73  Who was popularly called as The Father of Humanism?

1 Petrarch

2.  Martin Luther
3.  Sir Thomas Roe
4

Leonardo Bruni

Correct Option - 1

Que. 74 The monetisation of the government's fiscal deficit may give rise to unproductive spending and may
lead to

1. No inflation

2. Very low inflation
3. Higher inflation
4

None of these

Correct Option - 3

Que. 75 method for displaying colour pictures is commonly used with random scan displays.

1. Beam penetration
2. Shadow masking
3. Retracing

4. Refreshing

Correct Option - 1

Que. 76  Which of the following is the crop diversification scheme of Haryana?

1. Mera Pani, Merl Dharthi
2. Mera Pani, Meri Virasat

3. Mera Fasal, Meri Virasat
4

None of the above

Correct Option - 2

Que. 77 The practice of making a transmission appears to come from an authorized user

1. Hacking
2. Spoofing

3.  Spamming
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4. Spamdexing

Correct Option - 2

Que. 78 If o means +, B means —, y means x and 6 means +, then what will be the value of 30010y5a10320?

1. 3
2. 10
3. 5
4. 15

Correct Option - 3

Que. 79 The formula of production function is

1. q=f(L,K)

2. q=d(p)

3. y=1(x)

4. None of these

Correct Option - 1

Que. 80 Who is the current Governor of Rajasthan?

1. Kalraj Mishra
2. Ram Naik

3. Margaret Alva
4

None of the above

Correct Option - 1

Que. 81 allows user to send a file with e-mail.
1. Draft
2.  Messenger
3. Sent
4. Attachments

Correct Option - 4

Que. 82 Vice-Chancellor of Chaudhary Charan Singh Haryana Agricultural University (CCSHAU)

1. Prof. Dr. Bharath

2. Prof. Dr. R. D. Karjol
3. Prof. Dr. B. R. Kamboj
4. Prof. Dr. G. T. Gopa
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Correct Option - 3

Que. 83 Who becomes one of the youngest gold medal winners in Olympic 2021?

1

2.
3.
4

Bhavinaben Patel
Sumit Antil

Tek Chand
Momiji Nishiya

Correct Option - 4

Que. 84 Consider the following statements about Socialism.

1. Socialism refers to a set of Political ideas that emerged as a response to the inequalities present in,

and reproduced by, the industrial capitalist economy.

2. The main concern of Socialism is how to minimise existing inequality and distribute resources justly.

1

2.
3.
4

Only the statement 1 is correct
Only the statement 2 is correct
Both the statements 1 and 2 are correct

None of the above

Correct Option - 3

Que. 85 [f with the 3rd, 4th, Sth, 7t and 10" letters of the word 'PERSONALITY" a meaningful word is formed,

1

2.
3.
4

then first letter of the word is ?

©»n 4 0

R

Correct Option - 4

Que. 86 The term is commonly referred to the state of being connected to the networked computer

1

2.
3.
4

system or Internet.

Upload
Online
Offline

Browser

Correct Option - 2

Que. 87 Nagaland : Kohima : Manipur : ?

1.

Imphal
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2.  Shimla
3. Gangtok
4. Guwahati

Correct Option - 1

Que. 88 Secondary memory is also called as

1. Primary memory
2. Main memory

3. External memory
4

Virtual memory

Correct Option - 3

Que. 89 Consider the following statements about the tertiary sector of the Indian economy.
1. These are the activities that help in the development of the primary and secondary sectors.

2. These activities, by themselves, do not produce a goods but they are an aid or support for the production
process.

1 The statement 1 is correct

2. The statement 2 is correct

3. Both the statements 1 and 2 are correct
4

Both the statements 1 and 2 are incorrect

Correct Option - 3

Que. 90 In a box the numbers of one rupee, half rupee and quarter rupee are in the ratio 3 : 4 : 5 and the total
value of the coins is Rs.100. Find the number of each kind of coin respectively.

1. 48, 64,380
2. 48,60,70
3. 55,78,90
4. 44,68, 80

Correct Option - 1

Que. 91 Complete the sentence using the appropriate tense form from the alternatives given below it.
Nine years have passed since his aunt

1. haddied
2. died

3. have died
4. die

Correct Option - 2
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Que. 92 Pick out the wrongly spelt word from the given words.

1. Heritage
2.  Ecstasy
3.  Glimpse
4

Discription

Correct Option - 4

Que. 93  Out of the four alternatives suggested, select the one which best expresses the same sentence in
Indirect/Direct speech.

Kamal asked me "Did you see the football match on TV last night?"

1. Kamal asked me whether I saw the football match on the TV earlier night.

2. Kamal asked me whether I had seen the football match on TV the earlier night.
3. Kamal asked me did I see the football match on TV last night.

4. Kamal asked me whether had seen the football match on TV last night.

Correct Option - 2

Que. 94 Below are given idioms each followed by four alternative meanings, marked (A), (B), (C) and (D).
Mark the one which you think is the most appropriate.

Knit one's brows

1. To disappoint somebody
2. To express contentment

3. To frown
4

To have a headache
Correct Option - 3
Que. 95 In the following question a sentence has been given in Direct/Indirect speech. Out of the four

given alternatives select the one which best expresses the same sentence in indirect /Direct
speech.

He said to me, "Please wait for me here till I return".

1. He requested to me to wait for him there till he returned.
2. He ordered me to wait for me there till he returned.

3. He requested me to wait for him there till he returned.
4

He told me to wait for him here till he returns.

Correct Option - 3

Que. 96 T fbd Hgd B2
1. faQor
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2. GHAGEYD 3y

3. foar
4. FHABIE RN
Correct Option - 2
Que.97 BEA VUG HI TG S 3l
. QE
2. fogeff
3. THSl
4. FHABIE RN

Correct Option - 2

Que. 98 TG Tt g 2| T8 A1 YDA BT IGTER0I ¢ |
L g
2. 394
3. orquf
4. ZTHIPIS A

Correct Option - 3

Que. 99  dTIH® fI=w0T I a2 +ff wed B
1. dPbdaras

2. fAfydqaras

3. JffAfgaars

4. A DS T8l

Correct Option - 1

Que. 100 it ST YeTa &7 37 &-

1. Th ST
2. HIY BT
3. BT

4. g AT

Correct Option - 1



